
01284 757500

01284 703534 sales@sealey.co.uk

www.sealey.co.uk

INSTRUCTIONS FOR:
STORAGE SYSTEM WITH 47 BINS
MODEL No. TPS47

1.	 SAFETY INSTRUCTIONS
1.1.	 GENERAL SAFETY
	 WARNING! Ensure Health & Safety, local authority, and general 	
	 workshop practice regulations are adhered to when using this rack.
	 Locate rack in a suitable work area. 
	 Keep the work area clean, uncluttered and ensure there is 
	 adequate lighting.
	 WARNING! Use rack on level and solid ground, preferably 
	 concrete.
	 Keep the rack clean and tidy in accordance with good workshop 	
	 practice.
	 DO NOT use the rack for any purpose other than that for which it 	
	 is designed.
	 Keep children and unauthorised persons away from the work area.
	 DO NOT climb on racking.

2.	 SPECIFICATION

3.	 ASSEMBLY

	 Floor standing, powder coated steel racking with two sizes of 		
	 plastic storage bins. 
	
	 32 Small Bins................................................ (110 x 160 x 75mm) 
	 15 Large Bins.............................................. (150 x 235 x 125mm)
	 Rack Height:.....................................................................1145mm
	 Rack Width:....................................................................... 940mm
	 Rack Depth:...................................................................... 285mm
	 Weight:...................................................................................22kg 

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 
INFORMATION: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

3.1.	 Position the LH upright (1) and the RH upright (2) onto the 		
	 upstanding spigots on the base (3) ensuring that the attached 		
	 brackets (7) are facing inwards. On each upright it is the end 		
	 with no internal fixings which should be dropped over each spigot.
	 Secure each upright with two 14mm M4 bolts with a lock washer 		
	 under the head of each bolt.
3.2.	 Attach a brace (4) between each upright (1 & 2) and the base 		
	 (3) and secure each with two 14mm M4 bolts and lock washers. 	
3.3.	 Place the top (5) onto the two uprights ensuring that the uprights 	
	 go into the metal sockets in the back inside corners of the top. 		
	 Secure each upright with two 14mm M4 bolts and lock washers.
3.4.	 Bolt the seven cross braces (7) to the brackets on the inside 		
	 faces of the two uprights (1 & 2). Position each cross brace onto 	
	 the front faces of the adjacent brackets ensuring that the centre 		
	 support fixing hole is offset to the right. Fix each cross brace with 	
	 two 8mm M4 nuts and bolts at each end.
3.5.	 Attach the Centre Support (8) to the back of the cross braces 		
	 using 14mm M4 bolts with a lock washer under the head of each 		
	 bolt.
3.6.	 Attach the storage bins to the cross braces by pushing the rear 		
	 lip on each bin over the top front edge of the cross braces.

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS AND CAUTIONS. 
USE THE PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE DAMAGE 
AND/OR PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. PLEASE KEEP INSTRUCTIONS SAFE FOR FUTURE USE.

Thank you for purchasing a Sealey product. Manufactured to a high standard this product will, if used according to these instructions and properly 
maintained, give you years of trouble free performance.

Sole UK Distributor, Sealey Group, 
Kempson Way, Suffolk Business Park, 
Bury St. Edmunds, Suffolk,
IP32 7AR

© Jack Sealey Limited     Original Language Version	

Issue No:3(L) 06/03/14

TPS47   Issue No: 3(L) - 06/03/14


